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a) sina =

b) cosa = 5

c) tana = 3

BORESBLTRDINZE sinf, cosf, tanh THY.

a) sin(180° — 0) = /\

b) cos(180° — ) =

¢) tan(180° —0) = - —0 > 0 !
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a) 12° = b) 15° = c) 36° = d) 45° =
e) 90° = £) 120° = g) 135° = h) 150° =

[R(CHE<]



MEECRSNIORDAEEHTRE.

b1 b4

T b 5= )3
5 3 i
—_— = f _— = R

e) 1 ) > g) 2

9] BORESBLTRDINZ sinh, cosh, tanh THRE.

a) sin(—0) =
b) cos(—f) =
o) tan(—6) =
d) sin(r + 0) =
e) cos(m + 0) =

f) tan(wr 4+ 0) =
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a) sin —— = b) COS(_T) =
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a) sinf = — b) V2cosf =1
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P, Q DEENZFNZI P(cosa,sina), Q(cosp,sinfB) THdDEEE DT, PQ? % cosa, cospf,
sina, sinfB ZANTEYE.

a) & b) DIERZHHOET, cos(a — p) DINEEERZTRE.

BIFRTL sin 0 = cos(% - 9) ERVT, sin(a + f) DINEEBRERY.

[e> b icos(§ — (@ + B)) = cos((5 —a) = B)).]

RDPRRINZRIT. 127120, 0S5 x <27 &ETD.

a) sin2x = cosx b) cos2x +3cosx—1=0
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